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X(cm) Y1(mm) Y2(mm) Y3(mm) Y4(mm) Y5(mm) Y6(mm)

5 2 2 3 3 4 4

10 9 10 10 12 13 14

15 18 18 21 22 25 27

20 30 32 35 39 a4 49

25 48 51 55 61 68 76

30 64 70 77 85 98 104

35 91 96 115 116 131 146

40 115 123 134 147 163 186
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X(cm) | Y(cm) X? /H

H=39

5 0.2 0.64

45

15 1.8 5.76 35
30 /

20 3.0 10.25 s /

pad —H-30

25 48 16.02 20 S
1 o

30 6.4 23.07 /
10
35 9.1 31.41 5

40 115 41.02 02 09 18 3 48 64 91 115

e V,=V2 %981 39 =276.6(M/g) Cy = —3257 =0.945 = eV, = 0.945 X 276.6 = 261.4( M/
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X(cm) | Y(cm) X? Iy

H=36
5 0.2 0.694
50
10 1.0 2.778 45
40 /
15 1.8 6.25 3 /
20 3.2 11.111 30 /
25
25 5.1 17.36 20 & #—H=36
15
30 7.0 25 10 pr
35 9.6 34.03 2 74
40 12.3 44.44 0.2 1 1.8 3.2 5.1 7 9.6 12.3

65 Ve =V2+981+36 =265.8(M/s) €y =" =0.95= eV, =0.95 X 265.8 = 255.7( /)




: H=33

. X2 . . g s .
.cm‘,g});q;,Y,!aws‘ﬁb@ﬁuum,,u,m

X(cm) | Y(cm) X? /H
5 0.3 0.75
10 1.0 3.03
15 2.1 6.81
20 3.5 12.12
25 5.5 18.93
30 7.7 27.27
35 11.5 37.12
40 134 48.48
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0.3 1 2.1 3.5 5.5 7.7 115 134

—o—H=33

655 V=2 +981+33 =254.4(CM/g)

Vv3.64

CV: 2

=0.954 = eV, = 0.954 X 254.4 = 242.7( €M/
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X(cm) | Y(cm) X?
/n H=30
5 0.3 0.83
60
10 1.2 3.33
50 Vb
15 2.2 7.5
40
20 3.9 13.3
30
25 6.1 20.8 ——H=30
20
30 8.5 30
10
35 11.6 40.83 /
0 - . : : : : : :
40 14.7 53.33 03 12 22 39 61 85 116 147
. V. = _ cm _ V364 _ — _ cm
i Vi =VZ+981+30 =242.6 (M) €, =% =0.950 = eV, =0.954 X 242.6 = 231.6( €M/
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X(cm) Y(cm) XZ/
H H=27
5 0.4 0.92
70
10 1.3 3.7
60 /
15 2.5 8.33 50
25 6.8 23.14 30 // ——H=27
30 9.8 33.33 20 /
35 13.1 4537 | |10 /
0 1 T T T T T T T 1
40 16.3 39.26 0.4 1.3 2.5 4.4 6.8 9.8 13.1 16.3
5 V.=+/2 - cm _ V367 _ = - cm
e Vi=V2+981+27 =230.1(M/g)  Cy=-"-=0.957 = sV, =0.957 X 230.1 = 220.4( /)
s X2 . . g s .
il 23 P4 LY 510903 81 9 b (9 yigd Wlaizko g y10 900
X(cm) Y(cm) XZ/
i H=24
5 0.4 1.04
80
10 1.4 4.17 20
15 2.7 9.37 60 /
20 4.9 16.67 50 /
40
25 7.6 26.04 Pl ——H=24
30
30 10.4 37.5 20 /
35 14.6 51.04 10
0 T T T T T T T T 1
40 18.6 66.67 0.4 1.4 2.7 4.9 7.6 10.4 146 18.6
. V. = - cm _ V361 _ — - cm
& Vp=v2 %981 24 =217 (M) Cy =——=0.95= sV, =0.95 X 217 =206( M/
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Yy c ~0.945+ 0.95 + 0.954 + 0.954 + 0.957 + 0.95
B 6
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